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1 HT %52 0 FH 910,265 910,265 1 :%%E 0 F+H 0 0 105,183 105,183
OK 1 BEE 0 FH 0 off 105,183 105,183
2 | HAESH 0 FH 70,568 70568 | Ook| 2 LFEE 0 F+H 0 off 927,199 927,199
OK 1 RBEEEE 0 FH 0 ofl 721,414 721,414
3 | FFRXGHGE 0 FH 278 278 | ok 2 B E 0 FH 0 oll 105,205 105,205
OK SFEFREXREIRE 0 FH 0 ofl 36,390 36,390
4 | BEHIRXGE 0 FH 1,751 1,751 ] OK 4 EEE 0 FH 0 ofl 20,177 20,177
OK 5 #istEAEE 0 FH 0 ofl 42,273 42273
5 | BAFZERSIIXMAER 0 FH 1,985 1,985 | OK 6 EEZEE 0 FH 0 ol 1,740 1,740
OK|] 3 EB4EE 48811 FH 48,811 of 1,008,587 959,776
6 | EAZEBRXGE 0 FH 11,404 11,404 | OK 1 HEEUE 48811 FH 48,811 ofl 868,424 819,613
OK 2 REEUE 0 FH 0 ofl 140,163 140,163
7 | HWAEERRAGE 0 FH 209,337 209,337 | oK 3 KEMBNE 0 FH 0 )| 0 0
oKl 4 &4&#E 18,045 FH 18,045 off 698,405 680,360
8 | JILIOBFABRRNE 0 FH 23,167 23,167 | OK 1 REGEE 18,045 FH 18,045 ofl 253,189 235,144
OK 2 ERE 0 FH 0 ofl 102,877 102,877
9 | IREBEMREEEIR(GE 0 FH 5,342 5342 | OK 4 JRbRE 0 FH 0 ofl 322,120 322,120
OK 5 EKEE 0 FH 0 ofl 19,674 19,674
10 | HAEHIsE G 0 FH 3,300 3,300 | OK 6 EEF LKEREXNEEESE 0 FH 0 ofl 545 545
OK| 5 HEZE 0 FH 0 off 268 268
11| HAERFF 0 FH 2,340,000 2,340,000 | oK 1 LENERE 0 FH 0 ofl 268 268
OK 2 RERMEKE 0 FH 0 | 0 0
12| RBREXRZERIIXMAE 0 FH 800 800 |OK| 6 EMKEEE 1,151 FH 1,151 | 368,166 367,015
OK EES 1,151 FH 1,151 )| 298,300 297,149
13| HE£RVEEE 0 FH 21,829 21,829 | oK 2 MEE 0 FH 0 0 69,866 69,866
okl 7@TE 46,500 FH 42,507 3,993 417,986 371,486
14| FRABRVFEH 0 FH 69,805 69,805 | OK 1 E{IE 46,500 FH 42 507 3,993 417,986 371,486
okl 8 xXRZE 0 FH 0 0 604,810 604,810
15| EEXHE 109,363 FH 641,175 531,812 | OK 1 T XREHEE 0 FH 0 | 12,300 12,300
OK 2 ERIERE 0 FH 0 )| 306,960 306,960
16| EXHE 1,151 FH 279,086 277,935 | oK 3IE 0 FH 0 )| 4,118 4118
OK 4 FHEEE 0 FH 0 )| 26,587 26,587
17 ] BAEIRA 0 FH 3,059 3059 |OK 5 FKEE 0 FH 0 | 171,470 171,470
OK 6 1TEE 0 FH 0 )| 83,375 83,375
18| EHftE 0 FH 150,000 150,000 |OK| 9 EBHE 0 FH 0 ol 242,892 242,892
OK 1 HBRE 0 FH 0 )| 242 892 242,892
19] BA® 3,993 FH 384,006 380,013 |ok| 10 %&EZE 0 FH 0 oll 847,928 847,928
OK 1 HBREE 0 FH 0 )| 64,389 64,389
20 | #REE 0 FH 71,412 71,412 | OK 2 INERE 0 FH 0 | 143,354 143,354
OK 3 PR E 0 FH 0 ol 88,955 88,955
21 |  FIA 0 FH 100,578 100,578 | OK 4 5EFRE 0 FH 0 | 2,156 2,156
OK 5 FELEE 0 FH 0 )| 313,314 313,314
22| HIE 0 FH 346,700 346,700 | oK 6 $HEE 0 FH 0 ol 29,727 29,727
OK 1 HEEEE 0 FH 0 )| 64,994 64,994
& &t 114,507 FH 5,645,847 5,531,340 | ok 8 REAEE 0 FH 0 | 141,039 141,039
114,507 5,645,847 5531,340 OK| 11 K=EIEE 0 FH 0 | 91,118 91,118
oK OK OK OK 1 EMKEERSIKEEIRE 0 FH 0 )| 52,302 52,302
RARHEZE=0=0K OK | OK 2 AET AR KEEIRE 0FH 0 oll 1 1
=% 0 OK 3 XEMRKEEIRE 0 FH 0 )| 19,519 19,519
OK 4 BEXSBREKEEIRE 0 FH 0 )| 2,823 2,823
OK 5 ZDMARER-ABERKEERE 0 FH 0 ol 16,473 16,473
oKl 12 NEE 0 FH 0 )| 323,304 323,304
OK 1 NMEE 0 FH 0 )| 323,304 323,304
OK| 13@EXHE 0 FH 0 | 1 1
OK | EEMERSE 0 FH 0 )| 1 1
OK| 14 ¥ix& 0 FH 0 )| 10,000 10,000
OK 1 PiRE 0 FH 0 )| 10,000 10,000
& it 114,507 FH 110,514 3,993l 5,645,847 5,531,340
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#|®| | HEZ i MEFHABMABTRC & B ME# L B A e
1 BRE K &t 0 FH 105,183 105,183 0 0 0
2 #HHBE 7 it 0 FH 927,199 927,199 0 0 0
3 R&#E K &t 48,811 FH 1,008,587 959,776 48,811 48,811 0
1 #HEEIE il 48,811 +H 868,424 819,613 48,811 48,811 0
1 #HEUHRHE BN AR EHAFEEERRAXBEGAEETEFEBHFFIHEHYSHM) FHA BEFAFE 150 48,811 48,811 0
GERBEHRA 930tHH - RIASEHFTRIA 201HHE) FH w=HE 186 EEXHE 48,811
03| 35 HEKMNIHFF LY 150 FH ®’HE 272
1001 aE—FAMEHER 100 F¥H ZiH 703
04 HEMRRE (ZTEH 11,0004, RIS A £E1,0004) 86 FH ®KEE 47,500
11|01 BIEEWE CREBIMNEZEMNH) 272 ¥H
12 21 fRIAFHH 110 FH
51 VAT LREXRHRT 593 M
1924 #aftE FERBEFTRIA 930H T x 50,000 46,500 FF
R SEHETRIA 201 x 50,000 1,000 FH
4 BHEE E: B 18,045 FH 698,405 680,360 18,045 18,045 0
1 REFLEE il 18,045 FM 253,189 235,144 18,045 18,045 0
2 REESE FEOOFIIFUTHEESER FH REA 449 1,144 1,144 0
01|31 SHEERIGEE(ICRISFTFEETABE DM 449 FH BEFLF 688 EEXHE 1,144
03| 35 HIEKMNHEFH 688 M & 7
08| 01 EHEEASGEEICFRISHFEERABEDEHFY 7 FH
FH
3 FHE HEOAOFIOOFUOFHEEER FH THRE 131 16,901 16,901 0
10 [ 04 EEHFZOEMFITHRLIHER 131 +H ®’%E 418 EEXHE 16,901
11|01 HEESHFEER 418 +M ZEiH 16,202
12|51 PRTLBEEHEZR 110 FA| FERANRUVERER 150
N FEINFOIFUERER 16,092 F+H
ARHOOVKMSHEIOFIIFUEBRRAK FH
607 A L DIENNEEFEEEE (SEIH) 3,300 A X 2,277H FH
12/% LA LS9 AT DIBINHEEFE R EE (4R B ) 1,750 A % 2,277 FH
12 A ESOm AT D EMEEREE (AR BABME) 6124 x 4,620M FH
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